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QUESTION 1

Which browser is officially supported for QRadar?
A. Safari version 9.0.3

B. Chromium version 33

C. 32-bit Internet Explorer 9

D. Firefox version 38.0 ESR

Correct Answer: D

Reference: https://www.ibm.com/support/knowledgecenter/en/SS42VS_7.3.1/com.ibm.qradar.doc/
c_shi_browser_support.html

QUESTION 2

What can be considered a log source type?
A. ICMP

B. SNMP

C. Juniper IDP

D. Microsoft SMBtail

Correct Answer: C

Reference: https://www.ibm.com/support/knowledgecenter/SS42VS_DSM/ c_LogSourceGuide_ExtDocs_typelDs.html

QUESTION 3
What is a key difference between the magnitude of an event and the magnitude of an offense?

A. The magnitude of an event is derived when the event is received and does not vary, the magnitude of an offense can
only increase.

B. The magnitude of an event is derived when the event is received and does not vary, the magnitude of an offense can
increase or decrease over time.

C. The magnitude of an event is derived from the current magnitude of the offense it creates, the magnitude of an
offense can increase or decrease over time.

D. The magnitude of an event is derived when the event is received and does not vary, the magnitude of an offense is
derived when the offense is created and does not vary.

Correct Answer: B
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QUESTION 4

Which QRadar add-on component can generate a list of the unencrypted protocols that can communicate from a DMZ
to an internal network?

A. QRadar Risk Manager

B. QRadar Flow Collector

C. QRadar Incident Forensics

D. QRadar Vulnerability Manager

Correct Answer: A

QUESTION 5

When QRadar processes an event it extracts normalized properties and custom properties.
Which list includes only Normalized properties?

A. Start time, Source IP, Username, Unix Filename

B. Start time, Username, Unix Filename, RACF Profile

C. Start time, Low Level Category, Source IP, Username

D. Low Level Category, Source IP, Username, RACF Profile

Correct Answer: C
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